Balanced Canavati type Fractional Opial Inequalities

George A. Anastassiou Department of Mathematical Sciences University of Memphis Memphis, TN 38152, U.S.A. ganastss@memphis.edu

Dedicated to the 65th birthday of Professor Heiner Gonska

Abstract

Here we present L_p , p > 1, fractional Opial type inequalities subject to high order boundary conditions. They involve the right and left Canavati type generalised fractional derivatives. These derivatives are mixed together into the balanced Canavati type generalised fractional derivative. This balanced fractional derivative is introduced and activated here for the first time.

2010 AMS Subject Classification : 26A33, 26D10, 26D15. **Key Words and Phrases:** Opial inequality, fractional inequality, Canavati fractional derivative, boundary conditions.

1 Introduction

This article is inspired by the famous theorem of Z. Opial [10], 1960, which follows

Theorem 1 Let $x(t) \in C^1([0,h])$ be such that x(0) = x(h) = 0, and x(t) > 0 in (0,h). Then

$$\int_{0}^{h} |x(t)x'(t)| dt \le \frac{h}{4} \int_{0}^{h} (x'(t))^{2} dt.$$
(1)

In (1), the constant $\frac{h}{4}$ is the best possible. Inequality (1) holds as equality for the optimal function

$$x(t) = \begin{cases} ct, & 0 \le t \le \frac{h}{2}, \\ c(h-t), & \frac{h}{2} \le t \le h, \end{cases}$$

where c > 0 is an arbitrary constant.

To prove easier Theorem 1, Beesack [4] proved the following well-known Opial type inequality which is used very commonly.

This is another insiration to our work.

Theorem 2 Let x(t) be absolutely continuous in [0, a], and x(0) = 0. Then

$$\int_{0}^{a} |x(t)x'(t)| dt \leq \frac{a}{2} \int_{0}^{a} (x'(t))^{2} dt.$$
 (2)

Inequality (2) is sharp, it is attained by x(t) = ct, c > 0 is an arbitrary constant.

Opial type inequalities are used a lot in proving uniqueness of solutions to differential equations, also to give upper bounds to their solutions.

By themselves have made a great subject of intensive research and there exists a great literature about them.

Typical and great sources on them are the monographs [1], [2].

We define here the balanced Canavati type fractional derivative and we prove related Opial type inequalities subject to boundary conditions.

These have smaller constants than in other Opial inequalities when using traditional fractional derivatives.

2 Background

Let $\nu > 0$, $n := [\nu]$ (integral part of ν), and $\alpha := \nu - n$ ($0 < \alpha < 1$). The gamma function Γ is given by $\Gamma(\nu) = \int_0^\infty e^{-t} t^{\nu-1} dt$. Here $[a, b] \subseteq \mathbb{R}$, $x, x_0 \in [a, b]$ such that $x \ge x_0$, where x_0 is fixed. Let $f \in C([a, b])$ and define the left Riemann-Liouville integral

$$(J_{\nu}^{x_0}f)(x) := \frac{1}{\Gamma(\nu)} \int_{x_0}^x (x-t)^{\nu-1} f(t) dt,$$
(3)

 $x_0 \leq x \leq b$. We define the subspace $C_{x_0}^{\nu}([a,b])$ of $C^n([a,b])$:

$$C_{x_0}^{\nu}\left([a,b]\right) := \left\{ f \in C^n\left([a,b]\right) : J_{1-\alpha}^{x_0} f^{(n)} \in C^1\left([x_0,b]\right) \right\}.$$
 (4)

For $f \in C_{x_0}^{\nu}([a, b])$, we define the left generalized ν -fractional derivative of f over $[x_0, b]$ as

$$D_{x_0}^{\nu} f := \left(J_{1-\alpha}^{x_0} f^{(n)} \right)', \tag{5}$$

see [2], p. 24, and Canavati derivative in [5].

Notice that $D_{x_0}^{\nu} f \in C([x_0, b])$.

We need the following generalization of Taylor's formula at the fractional level, see [2], pp. 8-10, and [5].

Theorem 3 Let $f \in C_{x_0}^{\nu}([a,b])$, $x_0 \in [a,b]$ fixed. (i) If $\nu \geq 1$ then

$$f(x) = f(x_0) + f'(x_0) (x - x_0) + f''(x_0) \frac{(x - x_0)^2}{2} + \dots + f^{(n-1)}(x_0) \frac{(x - x_0)^{n-1}}{(n-1)!} + (J_{\nu}^{x_0} D_{x_0}^{\nu} f)(x), \quad all \ x \in [a, b] : x \ge x_0.$$

(ii) If $0 < \nu < 1$ we get

$$f(x) = (J_{\nu}^{x_0} D_{x_0}^{\nu} f)(x), \quad all \ x \in [a, b] : x \ge x_0$$
(7)

We will use (6) and (7).

Furthermore we need:

Let $\alpha > 0$, $m = [\alpha]$, $\beta = \alpha - m$, $0 < \beta < 1$, $f \in C([a, b])$, call the right Riemann-Liouville fractional integral operator by

$$\left(J_{b-}^{\alpha}f\right)(x) := \frac{1}{\Gamma(\alpha)} \int_{x}^{b} \left(J-x\right)^{\alpha-1} f(J) \, dJ,\tag{8}$$

 $x \in [a, b]$, see also [3], [6], [7], [8], [11]. Define the subspace of functions

$$C_{b-}^{\alpha}\left([a,b]\right) := \left\{ f \in C^{m}\left([a,b]\right) : J_{b-}^{1-\beta}f^{(m)} \in C^{1}\left([a,b]\right) \right\}.$$
(9)

Define the right generalized α -fractional derivative of f over [a, b] as

$$D_{b-}^{\alpha}f := (-1)^{m-1} \left(J_{b-}^{1-\beta}f^{(m)}\right)', \qquad (10)$$

see [3]. We set $D_{b-}^{0}f = f$. Notice that $D_{b-}^{\alpha}f \in C([a,b])$.

From [3], we need the following Taylor fractional formula.

Theorem 4 Let $f \in C_{b-}^{\alpha}([a,b]), \alpha > 0, m := [\alpha]$. Then

1) If $\alpha \geq 1$, we get

$$f(x) = \sum_{k=0}^{m-1} \frac{f^{(k)}(b_{-})}{k!} (x-b)^{k} + \left(J_{b-}^{\alpha} D_{b-}^{\alpha} f\right)(x), \quad \forall \ x \in [a,b].$$
(11)

2) If $0 < \alpha < 1$, we get

$$f(x) = J_{b-}^{\alpha} D_{b-}^{\alpha} f(x), \quad \forall \ x \in [a, b].$$

$$(12)$$

We will use (11) and (12).

We introduce a new concept

Definition 5 Let $f \in C([a,b])$, $x \in [a,b]$, $\alpha > 0$, $m := [\alpha]$. Assume that $f \in C_{b-}^{\alpha}\left(\left[\frac{a+b}{2},b\right]\right)$ and $f \in C_{a}^{\alpha}\left(\left[a,\frac{\alpha+b}{2}\right]\right)$. We define the balanced Canavati type fractional derivative by

$$D^{\alpha}f(x) := \begin{cases} D_{b-}^{\alpha}f(x), & \text{for } \frac{a+b}{2} \le x \le b, \\ D_{a}^{\alpha}f(x), & \text{for } a \le x < \frac{a+b}{2}. \end{cases}$$
(13)

3 Main Result

We give our main result

Theorem 6 Let $f \in C([a,b]), \alpha > 0, m := [\alpha]$. Assume that $f \in C_{b-}^{\alpha}\left(\left[\frac{a+b}{2},b\right]\right)$ and $f \in C_{a}^{\alpha}\left(\left[a,\frac{a+b}{2}\right]\right)$. Assume further that

$$f^{(k)}(a) = f^{(k)}(b) = 0, \quad k = 0, 1, ..., m - 1;$$

$$p, q > 1: \frac{1}{p} + \frac{1}{q} = 1, \quad and \quad \alpha > \frac{1}{q}.$$

$$(14)$$

(i) Case of $1 < q \leq 2$. Then

$$\int_{a}^{b} |f(\omega)| |D^{\alpha}f(\omega)| d\omega \leq$$
(15)

$$\frac{2^{-\left(\alpha+\frac{1}{p}\right)}\left(b-a\right)^{\left(\frac{p(\alpha-1)+2}{p}\right)}}{\Gamma\left(\alpha\right)\left[\left(p\left(\alpha-1\right)+1\right)\left(p\left(\alpha-1\right)+2\right)\right]^{\frac{1}{p}}}\left(\int_{a}^{b}\left|D^{\alpha}f\left(\omega\right)\right|^{q}d\omega\right)^{\frac{2}{q}}.$$

(ii) Case of q > 2. Then

$$\int_{a}^{b} |f(\omega)| |D^{\alpha}f(\omega)| d\omega \leq$$

$$\frac{2^{-\left(\alpha+\frac{1}{q}\right)} (b-a)^{\left(\frac{p(\alpha-1)+2}{p}\right)}}{\Gamma(\alpha) \left[\left(p(\alpha-1)+1\right) \left(p(\alpha-1)+2\right)\right]^{\frac{1}{p}}} \left(\int_{a}^{b} |D^{\alpha}f(\omega)|^{q} d\omega\right)^{\frac{2}{q}}.$$

$$When \ p = q = 2, \ \alpha > \frac{1}{2}, \ then$$

$$(16)$$

(iii) When p = q = 2, $\alpha > \frac{1}{2}$,

_

$$\int_{a}^{b} |f(\omega)| |D^{\alpha}f(\omega)| d\omega \leq$$

$$\frac{2^{-\left(\alpha+\frac{1}{2}\right)} (b-a)^{\alpha}}{\Gamma(\alpha) \left[\sqrt{2\alpha (2\alpha-1)}\right]} \left(\int_{a}^{b} |D^{\alpha}f(\omega)|^{2} d\omega\right).$$
(17)

Remark 7 Let us say that $\alpha = 1$, then by (17) we obtain

$$\int_{a}^{b} |f(\omega)| |f'(\omega)| d\omega \leq \frac{(b-a)}{4} \left(\int_{a}^{b} \left(f'(\omega) \right)^{2} d\omega \right), \tag{18}$$

that is reproving and recovering Opial's inequality (1), see [10], see also Olech's result [9].

Proof. of Theorem 6. Let $x \in \left[a, \frac{a+b}{2}\right]$, we have by assumption $f^{(k)}(a) = 0, k = 0, 1, ..., m - 1$ and Theorem 3 that

$$f(x) = \frac{1}{\Gamma(\alpha)} \int_{a}^{x} (x-\tau)^{\alpha-1} D_{a}^{\alpha} f(\tau) d\tau.$$
(19)

Let $x\in\left[\frac{a+b}{2},b\right],$ we have by assumption $f^{(k)}\left(b\right)=0,\ k=0,1,...,m-1$ and Theorem 4 that

$$f(x) = \frac{1}{\Gamma(\alpha)} \int_{x}^{b} (\tau - x)^{\alpha - 1} D_{b-}^{\alpha} f(\tau) d\tau.$$
(20)

Using Hölder's inequality on (19) we get

$$|f(x)| \leq \frac{1}{\Gamma(\alpha)} \int_{a}^{x} (x-\tau)^{\alpha-1} |D_{a}^{\alpha}f(\tau)| d\tau \leq \frac{1}{\Gamma(\alpha)} \left(\int_{a}^{x} \left((x-\tau)^{\alpha-1} \right)^{p} d\tau \right)^{\frac{1}{p}} \left(\int_{a}^{x} |D_{a}^{\alpha}f(\tau)|^{q} d\tau \right)^{\frac{1}{q}} = \frac{1}{\Gamma(\alpha)} \frac{(x-a)^{\frac{p(\alpha-1)+1}{p}}}{(p(\alpha-1)+1)^{\frac{1}{p}}} \left(\int_{a}^{x} |D_{a}^{\alpha}f(\tau)|^{q} d\tau \right)^{\frac{1}{q}}.$$
(21)

 Set

$$z(x) := \int_{a}^{x} |D_{a}^{\alpha}f(\tau)|^{q} d\tau, \quad (z(a) = 0).$$

Then

$$z'(x) = \left| D_a^{\alpha} f(x) \right|^q,$$

and

$$|D_a^{\alpha}f(x)| = (z'(x))^{\frac{1}{q}}, \text{ all } a \le x \le \frac{a+b}{2}.$$

Therefore by (21) we have

$$|f(\omega)| |D_a^{\alpha} f(\omega)| \leq \frac{1}{\Gamma(\alpha)} \frac{(\omega-a)^{\frac{p(\alpha-1)+1}{p}}}{(p(\alpha-1)+1)^{\frac{1}{p}}} (z(\omega) z'(\omega))^{\frac{1}{q}}, \qquad (22)$$

all $a \le \omega \le x \le \frac{a+b}{2}$. Next working similarly with (20) we obtain

$$|f(x)| \leq \frac{1}{\Gamma(\alpha)} \int_{x}^{b} (\tau - x)^{\alpha - 1} \left| D_{b-}^{\alpha} f(\tau) \right| d\tau \leq \frac{1}{\Gamma(\alpha)} \left(\int_{x}^{b} \left((\tau - x)^{\alpha - 1} \right)^{p} d\tau \right)^{\frac{1}{p}} \left(\int_{x}^{b} \left| D_{b-}^{\alpha} f(\tau) \right|^{q} d\tau \right)^{\frac{1}{q}} =$$

$$\frac{1}{\Gamma(\alpha)} \frac{(b-x)^{\frac{p(\alpha-1)+1}{p}}}{(p(\alpha-1)+1)^{\frac{1}{p}}} \left(\int_{x}^{b} \left| D_{b-}^{\alpha} f(\tau) \right|^{q} d\tau \right)^{\frac{1}{q}}.$$
(23)

 Set

$$\lambda(x) := \int_{x}^{b} \left| D_{b-}^{\alpha} f(\tau) \right|^{q} d\tau = -\int_{b}^{x} \left| D_{b-}^{\alpha} f(\tau) \right|^{q} d\tau, \quad (\lambda(b) = 0).$$

Then

$$\lambda'(x) = -\left|D_{b-}^{\alpha}f(x)\right|^{q}$$

and

$$\left|D_{b-}^{\alpha}f(x)\right| = \left(-\lambda'(x)\right)^{\frac{1}{q}}, \quad \text{all } \frac{a+b}{2} \le x \le b.$$

Therefore by (23) we have

$$|f(\omega)| \left| D_{b-}^{\alpha} f(\omega) \right| \leq \frac{1}{\Gamma(\alpha)} \frac{(b-\omega)^{\frac{p(\alpha-1)+1}{p}}}{(p(\alpha-1)+1)^{\frac{1}{p}}} \left(-\lambda(\omega) \lambda'(\omega) \right)^{\frac{1}{q}}, \qquad (24)$$

all $\frac{a+b}{2} \le x \le \omega \le b$. Next we integrate (22) over [a, x] to obtain

$$\int_{a}^{x} |f(\omega)| |D_{a}^{\alpha}f(\omega)| d\omega \leq \frac{1}{\Gamma(\alpha)(p(\alpha-1)+1)^{\frac{1}{p}}} \int_{a}^{x} (\omega-a)^{\frac{p(\alpha-1)+1}{p}} (z(\omega)z'(\omega))^{\frac{1}{q}} d\omega \leq \frac{1}{\Gamma(\alpha)(p(\alpha-1)+1)^{\frac{1}{p}}} \left(\int_{a}^{x} (\omega-a)^{p(\alpha-1)+1} d\omega\right)^{\frac{1}{p}} \left(\int_{a}^{x} z(\omega)z'(\omega) d\omega\right)^{\frac{1}{q}} = \frac{1}{\Gamma(\alpha)(p(\alpha-1)+1)^{\frac{1}{p}}} \frac{(x-a)^{\frac{p(\alpha-1)+2}{p}}}{(p(\alpha-1)+2)^{\frac{1}{p}}} \frac{z(x)^{\frac{2}{q}}}{2^{\frac{1}{q}}} = \frac{2^{-\frac{1}{q}}(x-a)^{\frac{p(\alpha-1)+2}{p}}}{\Gamma(\alpha)[(p(\alpha-1)+1)(p(\alpha-1)+2)]^{\frac{1}{p}}} \left(\int_{a}^{x} |D_{a}^{\alpha}f(\omega)|^{q} d\omega\right)^{\frac{2}{q}}.$$
 (25)

So we have proved

$$\int_{a}^{x} |f(\omega)| |D_{a}^{\alpha}f(\omega)| d\omega \leq \frac{2^{-\frac{1}{q}} (x-a)^{\frac{p(\alpha-1)+2}{p}}}{\Gamma(\alpha) \left[(p(\alpha-1)+1) \left(p(\alpha-1)+2 \right) \right]^{\frac{1}{p}}} \left(\int_{a}^{x} |D_{a}^{\alpha}f(\omega)|^{q} d\omega \right)^{\frac{2}{q}}, \quad (26)$$

for all $a \le x \le \frac{a+b}{2}$. By (26) we get

$$\int_{a}^{\frac{a+b}{2}}\left|f\left(\omega\right)\right|\left|D_{a}^{\alpha}f\left(\omega\right)\right|d\omega\leq$$

$$\frac{(b-a)^{\frac{(p(\alpha-1)+2)}{p}}2^{-\left[\frac{p(\alpha-1)+2}{p}+\frac{1}{q}\right]}}{\Gamma(\alpha)\left[(p(\alpha-1)+1)\left(p(\alpha-1)+2\right)\right]^{\frac{1}{p}}}\left(\int_{a}^{\frac{a+b}{2}}|D_{a}^{\alpha}f(\omega)|^{q}\,d\omega\right)^{\frac{2}{q}}.$$
 (27)

Similarly we integrate (24) over [x, b] to obtain

$$\int_{x}^{b} |f(\omega)| \left| D_{b-}^{\alpha} f(\omega) \right| d\omega \leq \frac{1}{\Gamma(\alpha) \left(p\left(\alpha-1\right)+1 \right)^{\frac{1}{p}}} \int_{x}^{b} \left(b-\omega \right)^{\frac{p(\alpha-1)+1}{p}} \left(-\lambda\left(\omega\right)\lambda'\left(\omega\right) \right)^{\frac{1}{q}} d\omega \leq \frac{1}{\Gamma(\alpha) \left(p\left(\alpha-1\right)+1 \right)^{\frac{1}{p}}} \left(\int_{x}^{b} \left(b-\omega \right)^{p(\alpha-1)+1} d\omega \right)^{\frac{1}{p}} \left(\int_{x}^{b} -\lambda\left(\omega\right)\lambda'\left(\omega\right) d\omega \right)^{\frac{1}{q}} = \frac{1}{\Gamma(\alpha) \left(p\left(\alpha-1\right)+1 \right)^{\frac{1}{p}}} \frac{\left(b-x \right)^{\frac{p(\alpha-1)+2}{p}}}{\left(p\left(\alpha-1\right)+2 \right)^{\frac{1}{p}}} \frac{\left(\lambda\left(x\right) \right)^{\frac{2}{q}}}{2^{\frac{1}{q}}}.$$
 (28)

We have proved that

$$\int_{x}^{b} |f(\omega)| \left| D_{b-}^{\alpha} f(\omega) \right| d\omega \leq \frac{2^{-\frac{1}{q}} (b-x)^{\frac{p(\alpha-1)+2}{p}}}{\Gamma(\alpha) \left[\left(p(\alpha-1)+1 \right) \left(p(\alpha-1)+2 \right) \right]^{\frac{1}{p}}} \left(\int_{x}^{b} \left| D_{b-}^{\alpha} f(\omega) \right|^{q} d\omega \right)^{\frac{2}{q}}, \qquad (29)$$

for all $\frac{a+b}{2} \le x \le b$. By (29) we get

By (29) we get

$$\int_{\frac{a+b}{2}}^{b} |f(\omega)| |D_{b-}^{\alpha}f(\omega)| d\omega \leq \frac{(b-a)^{\frac{(p(\alpha-1)+2)}{p}} 2^{-\left[\frac{p(\alpha-1)+2}{p}+\frac{1}{q}\right]}}{\Gamma(\alpha) [(p(\alpha-1)+1)(p(\alpha-1)+2)]^{\frac{1}{p}}} \left(\int_{\frac{a+b}{2}}^{b} |D_{b-}^{\alpha}f(\omega)|^{q} d\omega\right)^{\frac{2}{q}}.$$
(30)

Adding (27) and (30) we get

$$\int_{a}^{b} |f(\omega)| |D^{\alpha}f(\omega)| d\omega \leq \frac{2^{-\left(\alpha+\frac{1}{p}\right)} (b-a)^{\left(\frac{p(\alpha-1)+2}{p}\right)}}{\Gamma\left(\alpha\right) \left[\left(p\left(\alpha-1\right)+1\right) \left(p\left(\alpha-1\right)+2\right)\right]^{\frac{1}{p}}} \cdot \left[\left(\int_{a}^{\frac{a+b}{2}} |D_{a}^{\alpha}f(\omega)|^{q} d\omega\right)^{\frac{2}{q}} + \left(\int_{\frac{a+b}{2}}^{b} |D_{b-}^{\alpha}f(\omega)|^{q} d\omega\right)^{\frac{2}{q}}\right] =: (*.)$$
(31)

Assume $1 < q \le 2$, then $\frac{2}{q} \ge 1$. Therefore we get

$$(*) \leq \frac{2^{-(\alpha+\frac{1}{p})} (b-a)^{\left(\frac{p(\alpha-1)+2}{p}\right)}}{\Gamma(\alpha) \left[(p(\alpha-1)+1) (p(\alpha-1)+2) \right]^{\frac{1}{p}}}.$$

$$\left[\int_{a}^{\frac{a+b}{2}} \left|D_{a}^{\alpha}f(\omega)\right|^{q} d\omega + \int_{\frac{a+b}{2}}^{b} \left|D_{b-}^{\alpha}f(\omega)\right|^{q} d\omega\right]^{\frac{2}{q}} =$$
(32)

$$\frac{2^{-\left(\alpha+\frac{1}{p}\right)}\left(b-a\right)^{\left(\frac{p(\alpha-1)+2}{p}\right)}}{\Gamma\left(\alpha\right)\left[\left(p\left(\alpha-1\right)+1\right)\left(p\left(\alpha-1\right)+2\right)\right]^{\frac{1}{p}}}\left(\int_{a}^{b}\left|D^{\alpha}f\left(\omega\right)\right|^{q}d\omega\right)^{\frac{2}{q}}.$$
 (33)

So for $1 < q \leq 2$ we have proved (15).

Assume now q > 2, then $0 < \frac{2}{q} < 1$.

Therefore we get

$$(*) \leq \frac{2^{-(\alpha+\frac{1}{p})} (b-a)^{\left(\frac{p(\alpha-1)+2}{p}\right)} 2^{1-\frac{2}{q}}}{\Gamma(\alpha) \left[(p(\alpha-1)+1) \left(p(\alpha-1)+2 \right) \right]^{\frac{1}{p}}} \cdot \left[\int_{a}^{\frac{a+b}{2}} |D_{a}^{\alpha} f(\omega)|^{q} d\omega + \int_{\frac{a+b}{2}}^{b} |D_{b-}^{\alpha} f(\omega)|^{q} d\omega \right]^{\frac{2}{q}} = \frac{2^{-(\alpha+\frac{1}{q})} (b-a)^{\left(\frac{p(\alpha-1)+2}{p}\right)}}{\Gamma(\alpha) \left[(p(\alpha-1)+1) \left(p(\alpha-1)+2 \right) \right]^{\frac{1}{p}}} \left(\int_{a}^{b} |D^{\alpha} f(\omega)|^{q} d\omega \right)^{\frac{2}{q}} .$$
(34)

So when q > 2 we have established (16).

(iii) The case of p = q = 2, see (17), is obvious, it derives from (15) immediately. \blacksquare

References

- R.P. Agarwal and P.Y.H. Pang, Opial Inequalities with Applications in Differential and Difference Equations, Kluwer, Dordrecht, London, 1995.
- [2] G.A. Anastassiou, Fractional Differentiation Inequalities, Research Monograph, Springer, New York, 2009.
- [3] G.A. Anastassiou, On Right Fractional Calculus, Chaos, Solitons and Fractals, 42 (2009), 365-376.
- [4] P.R. Beesack, On an integral inequality of Z. Opial, Trans. Amer. Math. Soc. 104 (1962), 470-475.
- [5] J.A. Canavati, *The Riemann-Liouville Integral*, Nieuw Archief Voor Wiskunde, 5 (1) (1987), 53-75.
- [6] A.M.A. El-Sayed, M. Gaber, On the finite Caputo and finite Riesz derivatives, Electronic Journal of Theoretical Physics, Vol. 3, No. 12 (2006), 81-95.

- [7] G.S. Frederico, D.F.M. Torres, Fractional Optimal Control in the sense of Caputo and the fractional Noether's theorem, International Mathematical Forum, Vol. 3, No. 10 (2008), 479-493.
- [8] R. Gorenflo, F. Mainardi, Essentials of Fractional Calculus, 2000, Maphysto Center, http://www.maphysto.dk/oldpages/events/LevyCAC2000/ MainardiNotes/fm2k0a.ps.
- [9] C. Olech, A simple proof of a certain result of Z. Opial, Ann. Polon. Math. 8 (1960), 61-63.
- [10] Z. Opial, Sur une inegalite, Ann. Polon. Math. 8 (1960), 29-32.
- [11] S.G. Samko, A.A. Kilbas, O.I. Marichev, Fractional Integrals and Derivatives, Theory and Applications, (Gordon and Breach, Amsterdam, 1993) [English translation from the Russian, Integrals and Derivatives of Fractional Order and Some of Their Applications (Nauka i Tekhnika, Minsk, 1987)].